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RF check of the spherical CC
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RF check of the spherical CC

The s11 of RF model and the s11 from mechanical are identical.
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RF check of the bowl CC

0 30 60 (mm)

0 50 100 (mm)

From RF model

f0=11.9941 GHz
Beta=1.97
Q0=74700

fO =11.9941 GHz
Beta=1.9717
Q0 =74694.5

mag(5(1,1))

CC ——
70 (mm)

-10
y 3 x10
09+ 05|
0.8+
2 [
0.7
- 15 ¢
/2]
06
1 [
05+
04} 05
0.3 ‘ ' 0 '
11.993 11.994 11.995 4.5 5 55
Frequeny (GHz)
S Parameter Plot 1 RFcheck_cav ANSYS
1.00 jr Curve Info
] — mag(3(1,1})
0.90 7 Setup1 : Sweep
] Name X
0.80 ] < , >
0.70
0.60
0.50
0.40 1,
] 5
030 T[T T T T T T
1188 1190  11.93 1185 1198  12.00 1203 1205  12.08 12.10

Freq [GHz]




Deleted parts in the mechanical model before the thermal calculation

-#’@ Parts "coolingRing1" and "waterPipe4" intersect.
-+ Parts "coolingRing1" and "waterPipe3" intersect.
-#Q Parts "coolingRing2" and "waterPipe2" intersect.
-#Q Parts "coolingRing2" and "waterPipe1" intersect.
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Preliminary thermal calculation of the spherical cavity

Parameters of the klystron

B: Steady-State Thermal
Ternperature

Peak power [MW] 50 P
Pulse length [ps] 2.0 B
Repetition rate [Hz] 50 o
Average power [kW] 5.0 g%g
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